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F1TH 455 489 944 S14|KFIES 12 12 24 11
m2TH 222 249 4n 235||KFHE 8 5 13 8
F3TH 491 484 975 494|| K F1EEr i 88 83 171 73
m4TH 635 603 1,238 622|KFF & 276 286 562 2170
mS5TH 1,130 1,140 2,210 1,158|F51TH 17 16 33 14
1TH 903 912 1,815 889(F&2TH 23 15 38 19
2TH 328 332 660 01| KFEEH 95 108 203 94
+3TH 333 315 648 ONFHE1THE 28 24 52 21
m1TH 364 341 705 346 KFRH S 221 224 445 170
m2TH 838 862 1,700 870|x#51TH 24 17 41 20
m3TH 134 746 1,480 T59|(KFFEEHE 113 96 209 82
RFEF 1,198 1,072 2,210 1,036\ EEE1TH 74 12 146 59
R1TH 178 112 1,550 8051 FRE2TH 153 153 306 148
®2TH 179 847 1,626 191|[K=F#FE 96 99 195 88
R3TH mni 668 1,385 667||K=FF5 75 14 149 85
®4TH 360 349 709 44| KFHEF 99 90 189 80
®5TH 513 513 1,026 499|| KF R 79 75 154 67
#&81TH 975 1,051 2,026 1,011|[% 1 %& 206 170 376 302
#e2TH 264 285 549 250(|%k 2 & 313 339 652 384
Bm1TH 274 294 568 287||1% 3 & 252 230 482 302
m2TH 344 320 664 320(|%k 4 & 604 520 1,124 813
RFREFFE 198 197 395 174|[% 5 & 246 253 499 368
KF I3 244 255 499 209(|%k 6 & 139 125 264 165
RF T 992 985 1,977 1075 7 & 124 144 268 89
RFFE 1,108 1,080 2,188 888(ERAM 1 TH 345 365 70 333
RFMHBEN 508 496 1,004 369(FERM 2TH 527 526 1,053 505
PN ) 200 200 400 184|FHM3TH 207 199 406 192
ARFEERE 120 121 241 16(|FHMA4TH 265 263 528 24
RFHEFFE 172 161 333 153

RFLEFH 1,210 1, 251 2,521 1,042

EEH1TH 433 4an 904 395

ARFHERE 214 199 413 202

RFESHH 287 257 544 243

RFHEARN 293 266 559 242

KRFKRIL 180 164 344 148

RF2EHH 576 490 1,066 499

RFHE 17 15 32 14

RFTFHNHA 112 92 204 93

AFEFHH 84 12 156 66

RFETEH 182 188 370 183

RFHEEE 65 60 125 58 B 24,599 24,247 48,846] 23,483




